Composites Lesson 13 2Pl
[’10\\«\\9@‘ 1: Gansicler o l’Wo-Ige%/ [aminare. The bottom layer is
Zero dlegree ancl jts thicknes is 5 mw. The top lajer has anangle of
45° ongl & thicknes of 3™ Find the Stiffnes Mmatrices of lamnd?
The Stiffnes matrid of the matevial used is as follow -
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Exoun/)Ie 2:Tn o three- lﬂjé’rf‘o[ laminate the to)9 IAjfrs have
an oang le o) a5 ®oandd athicknes 07L5 " The migld Je layer isa
and GMH\,‘ck. The /’rcyfrﬁeg o Fwaterial are as jn [‘law\/”e
Find £he stiffness matrices of H\G’ |aws mnte .
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E%Nn/o/e 3. Consigler 3 laminae with @5° fiber orientation and
3Mf}\)ckn€5§.T/)C/)fofelrﬁf’j of material are the Same as jn
PreVious E%v\w\/)/e)‘.):}na{ £he Stilbnesy matrices of the |aminates
for the fa//awinj States.
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(Al does not 0[6/39/\0! on how the lot‘]ers Are G\rromﬁecf but the
Campanents %*‘9025 Cho«\JQ 0$ the layers oarranging changes.
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Exaw«)ﬂe 5 Solve the same [aminate of frevious exam[ﬂe 137

the f'a/lawrnj loadls i/
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The top 45 \ayer: Z.-64o -3
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